SUMMATIVE ASSESSMENT -I (2011)
epfera eI 280012
SOCIAL SCIENCE / \ifSie fasm
Class - IX/ shem— IX

Time allowed: 3 hours Maximum Marks: 90

AR w99 : 3 goe AP aH 3P : 90

General Instructions :

The question paper has 31 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1-10 are Multiple Choice Questions. Each
question carries one mark.

Questions from serial number 11 to 22 are 3 mark questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 23 to 30 are 5 mark questions. Answer of these
questions should not exceed 120 words each.

Question number 31 is a map question of 4 mark from Geography only. After
completion, attach the map inside your answer book.

A e

(i)

(ii)
(iif)
(iv)
(v)

(vi)
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1S &l BT =Ry |
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Ue W& 31 Bhad e W AFE SRl 4 3(d BT U & | AFEE R SaR forEd &
g8 SHBT MU Ik GRADI B 3FaR I BR G ST |

1. What did the red cap worn by Sans Culottees in France symbolize? 1
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(a) Brotherhood (b)  Danger

(c)  Anger (d) Liberty
wiE H W Fard gRI gt S aTelt ore St foRg ST b1 Yot off ?
(a) EEN (b)y @
(c) R (d) T
Which one of the following group was not benefitted by the French Revolution ? 1
(@) Peasants (b)  Workers
(c) Nobility (d)  Agricultural labourers
frfafea # 9 fryg Tvg 1 W sifa 9 @y T8l gsm?
(@ fowami (b) @Sl

() FEferdt (wredl) () el 7S

The neighbouring countries that share their boundaries with India are : 1
(@) Pakistan and Afghanistan

(b) Myanmar and Bangladesh

(c)  China and Nepal

(d) All the above

fort Wit Sl ot Sfen oRa | 2 g8 © 2

(a) IFREN AR TR
(b) HER SR TR

(©) = &R U

(d) ST gt

Which one of the following rivers is a peninsular tributary of the Ganga ? 1
(@) Ghagar (b) Son
(c) Gomti (d) Gandak
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frefafea & @ 7im =t yEfgdia demd 7€ FiF @ 82

How many permanent members are there in the Security Council ?

@ 5 b) 7

© 10 (d) 15
TReT it H fona Tl 9w €2

@ 5 b) 7

© 10 d) 15

Which one of the following UN Secretary Generals, said that the “US war on Iraq
was not legal” ?

(@) Kofi Annan (b) B. Buturash Ghali
(¢) U Thant (d) Ban Ki Moon

frfofaa § @ fra 9w Uy & wemfed 3, 306 W 9ga 59 SRR & 5 & /8y
e 12

(@) hIHI P (b) AL =S

(c) Fuie (d) o =g

How many members did the Constituent Assembly of India have ?

@ 199 (b) 299

© 399 d) 279
IR dfau™ |1 4§ fohds 951 972

@ 199 (b) 299

© 399 d) 279

High yields with combinations of HYV (High Yielding Varieties) seeds, irrigation,
chemical fertilizers, pesticides etc. refers to :
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10.

11.

(@) Modern cropping (b) Mixed cropping

(c)  Multiple cropping (d) Mega cropping
" srfersh ScateA o forq S, T, Tmifen @e, shiemmen e 1 W4 {6 YR i
Fft & farid T §?

() TR FT (b) fafsa i

(c) wEwEer Hfd (d) HmHH

On which of the following does the quality of population not depend?
(@) Literacy Rate  (b) Income
() Healthstatus  (d) Skill Formation

frefafaa o 9 foeg W SHg@ 1 e feR =81 S ?
(a) TERAT T (b) @™

© @R fafd () e fEw

Which one of the following is not an activity of primary sector ?
(@) Transport (b) Mining
(c)  Forestry (d) Animal Husbandry
frfafea o 9 [ & Tiafafy wefhe & 1 1ia oty 7= ¢ 2

(@) UReRA (b) T

(c) el (d) ug e

Explain the three fold plan of Hitler to consolidate the Nazi Power,

after becoming the Chancellor of Germany.

ST SRl HER 9 o W] ATS A ol TS hid o faQ feeel g1 oA 18 i 0
TSI ] TR I |

OR

Describe the main events of the October Revolution in Russia.

&Y H TSR Shifd ol HEA TSI 1 UM hifSIT |
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‘Nazis used chilling words as an art of propaganda’ Justify. 3

1T T | YER S Rl o ®9 H A S8l o a1t WSal hT SEIHT R 91 e
w1 Siifad JaRT|

OR

What was the contribution of Karl Marx in bringing about the Russian Revolution of
1917 ?

1917 <h! TE1 Shidl ©F H 1 HIeFH T =T NS o ?

How does the long coastline benefit India ?

I TS T B H R hl T D 22

Describe any three divisions of the Himalayas on the basis of regions from West to 3x1=3
East.

feuTera o i g faumil sl afvem & g sl 3R s SAER T 90H ST

Explain the types of tectonic plate movements responsible for the formation of relief 3
features.

TRIMF @il *t 37 fafum nfqat =t sawren Fifay faed «fifaw srpfaal & fmorgan g

?

How do rivers affect the economy of a country ? Explain.

Tfeal 291 ki STefeeree shi foh® dE UHIferd ohd! & 2 ©9F ShifsiT |

Assess the policies adopted by Salvador Allende after his election as President of
Chile in 1970 ?

TR 3T-Q §R1 1970 H 3197 UPAfd U8 & A1 o oG STIAE T8 Al ohl HeAichd
FHifTT |

Why is a democratic government a better government ? Explain

N e~

Tehdifeh TXhR Teh el TR 41 Bkl & 7 SANEAT hifsTu |
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19.

20.

21.

22,

23.

24.

25.

26.

What are constitutional amendments ? Mention its significance in a democratic
country like India.

Hfaem Gy 1 8 2 YR ST Alhdiseh <9 § S9! Hew R |

Explain any three factors which have enabled the farmers to increase the
productivity of their land.

=l T R i AT DI, =i fRaml 1 Ta 1 JfF Hi Sacha seM | a9 -
g

What is the difference between economic activities and non-economic activities ?

TR 3TR I amifeler foranadi & aam STm T2

What role does education play towards growth of society ?

THTS & e | frar w/ sffirent fvmdt €2

“Social disparity was one of the major causes of French Revolution.” Justify by
giving five examples.

"o H STEETAT TG i Shifd S Tk THE RO AT1’’ I U SR o 39 A1
Hi7d fag wifsie |

What was the Jacobin Club ? Describe their activities.

Sehlfel sl ST o1 ? 3k Tfararerdl shT oo hifery |

Explain any five objectives of the Russian Revolutionaries.
wt shifaerfa o fopl Wi el it smen i)

OR

Explain any five factors responsible for the meteoric rise of Hitler.

g & Srd o fou STRerl for=dl uie shRen] o1 ared Shifsu |

Describe any five characteristics of the Great Himalayas.

1+2=3

3x1=3

1+2=3

5x1=5

1+4=5

5x1=5

5x1=5
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27.

28.

29.

30.

31.

e fererd i forgl i fasivaredl o1 auie shifsa |

“Democracy is the most popular form of government emerging in the modern times;
still the shortcomings cannot be ruled out”. Justify the statement by assessing any
five short comings of democracy.

* seyfTeh T H Slehd, TIRR ok WA G €9 H ¥R W@ ¢ R off sueRt i @
TSN TEI a1 ST Hehat ¥ | Brehd i TRl 9T w1 Goareh R gU 39 HeH
=1 siifae fag it

“India’s Constitution was drawn up under very difficult circumstances.” Elaborate
this statement with the help of any five circumstances during which it was made.

" uRdr dfaum oga wicd uRfafai & s s’ 9 uie ufifeafadl & smem w39
A i AT HiTtY, TS a8 Hiaem s )

What is the aim of production ? Explain the four factors of production of goods and

services.

ICUTC T ¥ T ¢ 7 agaii 3R Jaell & I o IR HRehi hl T HITST |

What is meant by economic activities? Describe the three types of economic
activities and give one example of each.

anfefar foramsti o1 21 daEA ? dF YR i enfdfer fspansti o1 9via i 9em g &1
Tsh-Teh SRRV ST |

Two features (A) and (B) are marked on the given political outline map of India.
Identify these features with the help of the following information and write their
correct names on the lines marked in the map :
(A) A mountain range
(B) A river

AND
Locate and label the following on the same political outline map of India :
(i) The Western most meridian of India.
(if) Kanchenjunga Peak
feu MU vIRA & Tifaw WE-AEfes | 1 @& - (A) 3R (B) ifed few e E) e
T8 SRR &1 Heg Y 37 A&I07 bl JgaHT 3R 37 Fel A AFfaa § sifera Taedl w
e
(A) T TEd @

5x1=5

1+4=5

2+3=5
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(B) Uk

fou U vRa & 3 veifas Yer-aHtas B frefataa i feafa swgeaa gl grr foamee
ﬁ?ﬁéﬁ‘ww:

(i) ARG 1 FaE I SRR

(ii) e =

OR

31B. The following question is for the visually impaired candidates only in lieu of
Map Q. No. 31
FrAtafaa yo shae gfy anfaa arienfelt & fom uo 9&n 31 & e W E)

(i) Name the longest river of India which originates from the Himalaya, flows 4x1=4
eastward towards West Bengal.
(i)  Name the main mountain range in Rajasthan.

(iif) Kanchenjunga is in which State of India ?
(iv)  Which is the western most longitude of India ?

() fermer 9 frerarent afv=ll smer @ Bt g8 q9 okl 3TR S8 ATl YRd ot 9o

]I o1 T AR |
(i) TS ¥ o yH@ 9ed @ 1 1M sy |
(ili) ST IR & fFO T H 72
(iv) Rd I Terdt qfvet e e we-H R 2
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31.
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